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Beethoven:SymphonyNo. 5, Op, 67, 2ndmovement, opening—bar 10 ,

bar49-59, bar98-106, barl14-124
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Mendelssohn: A midsummer night’ s dream no.1 Scherzo, N to0
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Brahms : Symphony No. 2, Op, 73, 2nd movement, opening—15
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Smetana: Bartered Bride Overture: beginning to bar 107 (eight

after A)
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T, A ETRE ST R OFERD), JTHIREIZE 7/,

T, EEREZE 10/, 6EHI 7T/hNT2 G BJR 7/

Op. 20, opening-bar9, C — 17 after C,

Don Juan,

R. Strauss:

7 before G-7 after G

E-10 after E,
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/Allegro molto con brio d
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un poco pis lento
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